Seventh Semester Examinqtion -2009

COMMUNICATION SYSTEMS
: Full Marks - 70
Time :3 Hours

Answer Questlon No. 1 which is compulso:y and any flve

1.

from the rest’

The flgures in the right-hand margin mdlcate marks.

Answer the following questions : [2x10

(@) What is meant by single mode step index fiber ?

(b) The average optical power lunched into a 10 krn
length of the fiber is 100uW and the average
output power is 2.5ul . Calculate signal
attenuation per km of this fiber.

(c¢) How dispersion shifted fiber is diferent from
dispersion flattened fiber ?

(d) Differentiate connector to that of a splice. In which
case loss is minimum ?

(¢) What is EDFA ? What is its role in optical
communication ?

(®  Whatis semi latus rectum ? What is the relation

~ between semi major axis and semilatus rectum ?

(g) Whatislimit of visibility ? What is the condition for

geosynchronous orb}';tB‘?
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from anantenna with a gainof 18 dBin fhe direction
of the earth station.Find the flux density at the
receiving point and the power received by anantenna .
with an effective area of 10m?. Find out path lossif - |
it radiates with 11 GHz. . 6
(b) Supposewe have 4 GHz receiver with the
following gains and noise temperatures :
T, = 50K, Ty =50K.T, = 500K,T,. =1000K |
CadGy=23d8,G, = 0dB,G = 304B.Cdangle . ~7
: ~ equivalent system noise temperature. 4
8. (a) Differentiatemultiple access anfmultiplexing Explain
- abo/utkCDMA. ' . O
(b) Explain Propagation effects on satellite link
- performance due to hydrometric anfnonhydrometric
parameters. 7 {5
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